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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-11_0
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)
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P3-11_0, Day=37 (2025-05-09)
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-11

Bfig) | JEBIATIC (FD) | EBRE (BFH/HR) | XS EFE

08:35 288 150.0 (& =| 1Ri%e08:35 Bz (kABEREE)
09:50 288 150.0 (Z=| 1Ri%@09:50 Bzh (KABERESE)
11:15 288 150.0 S| Rige11:15 Bz (REAERE)
12:25 288 150.0 S| Rige12:25 Bz (REAERBSR)
13:35 288 150.0 (Z=| 1Ri%@13:35 Bz (GREBERESE)
=it 1440.0 (5)%) 750.0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (187.0 :

ZRIALBRIERE150. 0 ml.

150.0), FAEEHT—@ % XA HS

AEREMEC (2625.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=36 (2025-05-08)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=435, FV0=0 m=525, FV0=0 m=635, FV0=0

16. 25 A

16. 6
—&— ME 17. 00 - —0— ME —&— ME
16. 00 16. 4 1
16. 75
15. 75 16. 2
16. 50
15. 50 A 16. 0 -
16. 25
15. 25 A 15. 8
16. 00
i 15.6 -
15.00 15. 75 4
T T T T T T T T T T T T
600 800 1000 455 460 465 525 530 535 635 640 645
m=710,m FV0=0 m=775,m FV0=0 m=835,m FV0=0 m=905,m FV0=0
16. 0 - M_E 15. 8 - M_E e - M_E 15. 6 - M_E
15. 8 15.6 1 15. 4 -
15. 4 4
15. 6 i
15. 4 5 2 15. 2 +
15. 4 '
15.2 4
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15.2 4 15.0 4
15.0 +
15.0 4 14.8 4 14. 8 +
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T T T T T T T T T T T T
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21.5 - T T T T T T T T T T T T
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P3-11

Bfie) | GEBEETIC (7)) | EME (EH/HK) | XS EFRF

09:00 288 130.0 (2 =| 1Ri%@09:00 Bz (kABHERSE)
10:00 288 130.0 | Ri%@10:00 Bz (REERESE)
11:00 288 130.0 | Ri%@11:00 Bz (REERESE)
12:00 288 130.0 RS {Ri&e12:00 Bz (REERS)
13:00 288 130.0 B Rige13:00 Bz (REAERSE)
14:05 288 130.0 B 1Rige14:05 Bzh (REEESE)
15:30 288 130.0 RSl Rige15:30 Bz (REAEHE)
23t]2016.0 (70%) 910.0 ZHKEC: 2080.0, PH: 6.0

TERRHER 2 STEEART (187.0 :

ZRIASERRIERE150. 0 ml.

150.0), FAIEEHT—R % XA HS
LoRGERRET 4 (288) 574 (250. 0) FF, FIREH T & MAEEIRS % X &R

REREBEEC (2575.0) Hi&EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=35 (2025-05-07)
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m=470, FV0=0 m=530, FV0=0 m=610, FV0=0

18. 25 A
—&— ME —&— ME —&— ME - ME
17.6 18. 2 4
18. 00
17.4 4 18.0 A
17.75 4
17. 2 4
17.8 17.50
17.01 17.6
) 17. 25 +
16. 8 -
17.49 17.00 -
16. 6
T T T T T T T 17 2 L T T T 16 75 - T T T
600 700 800 900 470 475 480 530 535 540 610 615 620
m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
—o— mEe | 1687 —o— ME 6.4 —o— ME 16.25 4 —@— M_E
16. 6 |
16. 2 16.00
16. 4 i
16. 0 - 15.75
16. 0 15. 6 15. 25
15. 8 15. 4 4 15. 00
T T T T T T T T T T T
690 695 750 755 760 805 810 815 885 890 895
m=925,m FV0=0 m m=470,m FV0=0 m=530,m FV0=0
M_E 25 + —— M_w 935 - —— M_W 24.5 —o— M_W
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22 +
21.5 1
22.5 1
T T 21 L T T T T T 21 - 0 - T T T T T T
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